

SUBJECT :-

differential equation

SUBMITTED

By :- Atif Farooq

SUBMITTED

To :- Mam Shomaila

ID :-

7919

Q 1

(i) order of matrix A is $m \times p$
 order of matrix B is $p \times n$
 \Rightarrow order of matrix AB = $m \times n$

(ii) The number of non-zero rows in an echelon form is called Rank of the matrix.

(iii) if $B = \begin{pmatrix} 1 & 4 \\ 2 & a \end{pmatrix}$

$\Rightarrow |B| = 0$ i.e. singular
 $a = ?$

$$|B| = \begin{vmatrix} 1 & 4 \\ 2 & a \end{vmatrix}$$

$$= 1 \times a - 2 \times 4$$

$$|B| = a - 8$$

$$\text{But } |B| = 0$$

$$\Rightarrow a - 8 = 0$$

$$\Rightarrow a = 8$$

$$(iv) A = \begin{bmatrix} 2i & i \\ i & -i \end{bmatrix}, \quad |A| = ?$$

$$|A| = \begin{vmatrix} 2i & i \\ i & -i \end{vmatrix}$$

$$= 2i \times (-i) - i \times i$$

$$= -2i^2 - i^2$$

$$= -2(-1) - (-1)$$

$$= +2 + 1$$

$$|A| = 3$$

(v) The matrix $A = \begin{bmatrix} q & 0 \\ 0 & q \end{bmatrix}$ is?
 it is called scalar matrix.

$$(vi) \frac{dy}{dx} + 2xy = y?$$

$$\frac{dy}{dx} = y - 2xy$$

$$\frac{dy}{dx} = y(1 - 2x)$$

Pg#3

$$\int \frac{1}{y} dy = \int (1-2x) dx$$

$$\ln|y| = x - \frac{2x^2}{2} + C$$

$$\ln|y| = x - x^2 + C \text{ (Ans)}$$

(vii) The order and degree of differential equation

$$\left(\frac{dy}{dx}\right)^3 = \sqrt{1 + \left(\frac{dy}{dx}\right)^3} \text{ is}$$

$$\text{order} = 1$$

$$\text{Degree} = \underline{\underline{3}}$$

(viii) The order and degree of differential equation

$$\frac{d^2y}{dx^2} - 4xy = \sin\left(\frac{d^2y}{dx^2}\right) \text{ is}$$

$$\text{order} = \text{Two}$$

$$\text{Degree} = \text{One}$$

(ix) The differential equation
 $2 \frac{dy}{dx} + x^2 y = 2x + 3, y(0) = 5$
 is _____

Solution:-

$$2y' + x^2 y = x^2 + 3, y(0) = 5$$


$$y' + \left(\frac{x^2}{2}\right) y = \frac{x^2 + 3}{2}$$

$$y' + \left(\frac{x^2}{2}\right) y = \frac{1}{2} (x^2 + 3)$$

(x)

$$\begin{vmatrix} 1 & a & a^2 \\ 1 & b & b^2 \\ 1 & c & c^2 \end{vmatrix}$$

$$\begin{array}{ccc|l} 1 & a & a^2 & \text{By} \\ 0 & b-a & b^2-a^2 & R_2 - R_1 \\ 0 & c-a & c^2-a^2 & R_3 - R_1 \end{array}$$



$$\begin{vmatrix} 1 & a & a^2 \\ 0 & (b-a) & (b-a)(b+a) \\ 0 & (c-a) & (c-a)(c+a) \end{vmatrix}$$

Page # 5

$$\begin{array}{l|ll} (b-a) & 1 & a & a^2 \\ & 0 & 1 & (b+a) \\ (c-a) & 0 & 1 & (c+a) \end{array}$$

$$(b-a)(c-a) \left[\begin{array}{l|ll} 1 & 1 & (b+a) \\ & 1 & (c+a) \end{array} \right] \begin{array}{l} -0+0 \\ \end{array}$$

$$(b-a)(c-a) [1(c+0) - 1(b+a)]$$

$$(b-a)(c-a) (c - b - a)$$

$$= (b-a)(c-a)(c-b) \text{ Ans.}$$

Q No 2

Part (i)

$$\begin{array}{l|lll} & a & b & c \\ & a^2 & b^2 & c^2 \\ & a^3 & b^3 & c^3 \end{array}$$

$$= abc \begin{array}{l|lll} & 1 & 1 & 1 \\ & a & b & c \\ & a^2 & b^2 & c^2 \end{array}$$

Pg #6

$$= abc \begin{vmatrix} 1 & 0 & 0 \\ a & (b-a) & (c-a) \\ a^2 & (b^2-a^2) & (c^2-a^2) \end{vmatrix}$$

$$= (abc)(b-a)(c-a) \begin{vmatrix} 1 & 0 & 0 \\ a & 1 & 1 \\ a^2 & (b+a)(c+a) \end{vmatrix}$$

$$= (abc)(b-a)(c-a) \left[\begin{array}{c|cc} 1 & 1 & 1 \\ \hline & (b+a)(c+a) & \end{array} \right]_{-0+0}$$

$$= (abc)(b-a)(c-a) [1(c+a) - 1(b+a)]$$

$$= (abc)(b-a)(c-a)(c+a-b-a)$$

$$= (abc)(b-a)(c-b) \quad \text{Ans.}$$

QNO2

$$\text{Part (B)} \begin{pmatrix} 2 & -1 & -1 & 0 \\ -1 & 3 & -1 & -1 \\ -1 & -1 & 3 & -1 \\ 0 & -1 & -1 & 2 \end{pmatrix}$$

pg # 7

Soln.

$$\begin{pmatrix} 2 & -1 & -1 & 0 \\ -1 & 3 & -1 & -1 \\ -1 & -1 & 3 & -1 \\ 0 & -1 & -1 & 2 \end{pmatrix}$$

Characteristic eqn $\rightarrow |A - \lambda I| = 0$ (A)

$$\begin{pmatrix} 2 & -1 & -1 & 0 \\ -1 & 3 & -1 & -1 \\ -1 & -1 & 3 & -1 \\ 0 & -1 & -1 & 2 \end{pmatrix} - \lambda \begin{pmatrix} 1 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 \\ 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 1 \end{pmatrix}$$

Now take determinant

$$|A - \lambda I| = 0$$

$$\begin{vmatrix} 2-\lambda & -1 & -1 & 0 \\ -1 & 3-\lambda & -1 & -1 \\ -1 & -1 & 3-\lambda & -1 \\ 0 & -1 & -1 & 2-\lambda \end{vmatrix} = 0$$

Expand by R_1

$$\Rightarrow 2-\lambda \begin{vmatrix} 3-\lambda & -1 & -1 \\ -1 & 3-\lambda & -1 \\ -1 & -1 & 2-\lambda \end{vmatrix} - (-1) \begin{vmatrix} -1 & -1 & -1 \\ -1 & 3-\lambda & -1 \\ 0 & -1 & 2-\lambda \end{vmatrix} - (-1) \begin{vmatrix} -1 & 3-\lambda & -1 \\ -1 & -1 & -1 \\ 0 & -1 & 2-\lambda \end{vmatrix} = 0 \rightarrow \text{(B)}$$

Again:-

pg# 8

$$\begin{vmatrix} 3-\lambda & -1 & -1 \\ -1 & 3-\lambda & -1 \\ -1 & -1 & 2-\lambda \end{vmatrix} \quad \text{Expand by } R_1$$

$$\Rightarrow 3-\lambda \begin{vmatrix} 3-\lambda & -1 \\ -1 & 2-\lambda \end{vmatrix} - (-1) \begin{vmatrix} -1 & -1 \\ -1 & 2-\lambda \end{vmatrix} + (-1) \begin{vmatrix} -1 & 3-\lambda \\ -1 & -1 \end{vmatrix}$$

$$\Rightarrow (3-\lambda) \left[((3-\lambda)(2-\lambda) - (-1)(-1)) + 1 \right. \\ \left. ((-1)(2-\lambda) - (-1)(-1)) - 1 \left(\frac{(-1)(-1) - (-1)}{(3-\lambda)} \right) \right]$$

$$\Rightarrow (3-\lambda) (6-3\lambda-2\lambda+\lambda^2-1) + (-2+\lambda-1) \\ - (+1+3-\lambda)$$

$$\Rightarrow (3-\lambda) (\lambda^2-5\lambda+5) + (-3+\lambda) - (4-\lambda)$$

$$\Rightarrow 3\lambda^2 - 15\lambda + 15 - \lambda^3 + 5\lambda^2 - 5\lambda \\ - 3 + \lambda - 4 + \lambda$$

$$\Rightarrow \boxed{-\lambda^3 + 8\lambda^2 - 18\lambda + 8} \Rightarrow \textcircled{a}$$

pg # 9

$$\Rightarrow \begin{vmatrix} -1 & -1 & -1 \\ -1 & 3-\lambda & -1 \\ 0 & -1 & 2-\lambda \end{vmatrix}$$

Expand by c_1

$$\Rightarrow -1 \begin{vmatrix} 3-\lambda & -1 \\ -1 & 2-\lambda \end{vmatrix} - (-1) \begin{vmatrix} -1 & -1 \\ -1 & 2-\lambda \end{vmatrix} + 0$$

$$\Rightarrow -1(6-3\lambda-2\lambda+\lambda^2-1) + 1(-2+\lambda-1)$$

$$\Rightarrow -\lambda^2 + 5\lambda - 5 - 3 + \lambda$$

$$\Rightarrow \boxed{-\lambda^2 + 6\lambda - 8} \rightarrow \textcircled{b}$$

$$\Rightarrow \begin{vmatrix} -1 & -1 & 3-\lambda & -1 \\ -1 & -1 & -1 & -1 \\ 0 & -1 & 2-\lambda & \end{vmatrix}$$

Expand by c_1

$$\Rightarrow - \left[-1 \begin{vmatrix} -1 & -1 \\ -1 & 2-\lambda \end{vmatrix} - (-1) \begin{vmatrix} 3-\lambda & -1 \\ -1 & 2-\lambda \end{vmatrix} + 0 \right]$$

$$\Rightarrow - \left[-(-2+\lambda-1) + 1(6-3\lambda-2\lambda+\lambda^2-1) \right]$$

$$\Rightarrow -(3-\lambda+\lambda^2-5\lambda+5)$$

$$\Rightarrow -\lambda^2 + 5\lambda - 5 - 3 + \lambda$$

$$\Rightarrow \boxed{-\lambda^2 + 6\lambda - 8} \rightarrow \textcircled{c}$$

Pg # 10

put a, b and c in B

$$(2-\lambda) \left[\begin{array}{c} -\lambda^3 + 8\lambda^2 - 18\lambda + 8 \\ + 6\lambda - 8 \end{array} \right] - \lambda^2 + 6\lambda - 8$$

$$\Rightarrow -2\lambda^3 + 16\lambda^2 - 36\lambda + 16 + \lambda^4 - 8\lambda^3 + 18\lambda^2 - 8\lambda - \lambda^2 + 6\lambda - 8 - \lambda^2 + 16\lambda - 8$$

$$\Rightarrow \lambda^4 - 2\lambda^3 - 8\lambda^3 + 16\lambda^2 + 16\lambda^2 - \lambda^2 - \lambda^2 - 36\lambda - 8\lambda + 6\lambda + 6\lambda + 16 - 16$$

$$\Rightarrow \lambda^4 - 10\lambda^3 + 32\lambda^2 - 32\lambda = 0$$

By synthetic division
we get

$$\lambda(\lambda-2)(\lambda^2-8\lambda+16) = 0$$

$$(\lambda=0)$$

$$\lambda - 2 = 0 \Rightarrow \boxed{\lambda = 2}$$

$$\lambda^2 - 8\lambda + 16 = 0$$

By factorization method

$$\lambda^2 - 4\lambda - 4\lambda + 16 = 0$$

$$\lambda(\lambda-4) - 4(\lambda-4) = 0$$

$$(\lambda-4)(\lambda-4)$$

$$\boxed{\lambda_1 = 0, \lambda_2 = 2, \lambda_3 = 4, \lambda_4 = 4} \text{ Ans}$$

Q No 3Solution Data,

$$(x^2 + 3y^2) dx - 2xy dy = 0$$

$$(x^2 + 3y^2) dx = 2xy dy$$

$$\frac{(x^2 + 3y^2)}{2xy} = \frac{dy}{dx}$$

$$\left(\frac{x^2}{2xy} + \frac{3y^2}{2xy} \right) = \frac{dy}{dx}$$

$$\left(\frac{x}{2y} + \frac{3}{2} \cdot \frac{y}{x} \right) = \frac{dy}{dx}$$

$$\text{let } u = \frac{y}{x} \quad \text{OR } \frac{1}{u} = \frac{x}{y}$$

$$\Rightarrow y = ux$$

Diff. w.r. to "x" in b-s

$$\frac{dy}{dx} = u \cdot 1 + x \frac{du}{dx}$$

PS #12

$$\frac{dy}{dx} = 4 + x \frac{dy}{dx}$$

$$\frac{1}{2} \cdot \frac{1}{4} + \frac{3}{2} 4 = 4 + x \frac{dy}{dx}$$

$$\frac{1}{2x} + \frac{3}{2} 4 - \frac{4}{1} = x \frac{dy}{dx}$$

$$\frac{1 + 3x^2 - 2x^2}{2x} = x \frac{dy}{dx}$$

$$\frac{1 + x^2}{2x} = x \frac{dy}{dx}$$

$$\int \frac{1}{x} dx = \int \frac{2x}{1+x^2} dx$$

$$\ln|x| = \ln|1+x^2| + \ln|c|$$

$$\ln|x| = \ln|1+x^2| + \ln|c|$$

$$x = (1+x^2) |c|$$

where $x=2, y=6, \text{ ~~3000~~ }$

Pg #13

$$\frac{dy}{dx} = 4 + u \frac{du}{dx}$$

$$\frac{1}{2} \cdot \frac{1}{4} + \frac{3}{2} u = 4 + u \frac{du}{dx}$$

$$\frac{1}{2u} + \frac{3u}{2} - \frac{4}{1} = u \frac{du}{dx}$$

$$1 + 3u^2 - 2u^2 = \frac{ndu}{dx}$$

$$\frac{1+u^2}{2u} = u \frac{du}{dx}$$

$$\int \frac{1}{u} du = \int \frac{2u}{1+u^2} du$$

$$\ln |u| = \ln |1+u^2| + \ln |c|$$

$$\ln |u| = \ln |1+u^2| + \ln |c|$$

$$u = (1+u^2) |c|$$

where $n = 2$, $y = 6$, But $u = \frac{y}{x}$

pg # 14

$$2 = \left| 1 + \frac{y^2}{x^2} \right| c$$

$$2 = \left| 1 + \frac{6^2}{2^2} \right| c$$

$$2 = \left| 1 + \frac{3^2}{1} \right| c$$

$$2 = |1 + 9| c$$

$$2 = 10 c$$

$$c = \frac{2}{10}$$

$$c = \frac{1}{5}$$

$$2 = \left| 1 + \frac{y^2}{x^2} \right| \frac{1}{5}$$

$$5x = \left| \frac{x^2 + y^2}{x^2} \right| \text{ Ans.}$$